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I a. Explain phases of OR.
b. A Toy company manu

version - doll B. Each doll
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(05 Marks)
types of doll, a bas&ffiision - doll A and a deluxe

'B'iakes as long as tgBi6duce as one of type 'A' and the

company would have tj make a maximum per day. The supply of plastic
insufficient to produ@ffi dolVday (Both A mbined). A deluxe version requires

. If the comDanv makes a orofit ofa fancy dress which tfu&ailable for only 600 dffiday. If the company makes a profit of
Rs.3/- and Rs.S/=ftr"%o[ respectively on dpn A and doll B. Then, how many of each doll
should be prodrtp{ per daV in order to maqlffi*pe the total profit.
Formulate the gbWe problem and solveffihically to find the number of each type of dolls
to be nrq{qg9-.{, in order to maximize the iottl profit. (15 Marks)- 

^d*'&S;. ,, *
\2 a. Solv.ptpldft given LPP by Big-\{ffi$tfrod and find alter#ffiFsolution, if any.

.iM, d !&-

Mui T%.,6* , + 4x, fory%' *&flA'T r
Subject to constraints, . $ e* *#M

2xr+3*r130 dffi-fu d-ru.}-': m*J*q]lMSWV

3x, +2x, < 2ffiW $k. tP" o "*n

q"4&k{

x- +x- )i ,, *u \ffir d\
- I z- &rf # dx,+xr)3- " ,4eW '\, .a * qs4& ,4ww#ffis

*, > O4fure i= 1,2 * *#/ ffi*p (to Marks)

b. Solve the belqturgiven LPP Uy duaffitr&ldx method
Min z = 2xr f x*i %ffi '\ .'
Mul z = zx,;f xl rutu.S .i'

Subject-th"cdnstraints, ffiry, .*SryP

",,:=ry, *xz2 f _.tfr*d i

B.d
bost from 3'd*eefue to 3'd destination is not known. Find the allocation
sportation &seAlso comment on the solution obtained.

Capacity
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r#il.
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(10 Marks)



b.

l &
Solve the below given assignment problem, determine the gffiial assignment that minimize

the total cost and find alternate solution if any. "'"tuP

ffi-$h'
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(10 Marks)

(20 Marks)

i(.

W*:

dfl

Subject to constraints,
4x, -4xr15

fl;*)

,#
integers.ryfu- -

PAflryCB

(iii)* Critical path. '%*r , na- & 
w (06 Marks)

b. The below project has 7 actilsities and their pr@ffi.ice relationshipfue shown in below

table. The time estimate*#fulso given below,ffi F' 
ffi*:(r) Draw the N#@k diagram. ,e- u #-* .* 
*

a. Define
(r)

iii) Find th€ cfrlical

(i1) What is thepv&ge length of the queues that form from time to time?
(iii) The telep,hd&wdepartment will install a second booth, when convinced that an arrival

would h to haveto wait at least 3 minutes for the phone. By how must the flow of
arrival be*ihcreased in order to justifu a second booth? (14 Marks)

ii.

(l4 Marks)

Discuss t!,.epqrhmeters used to Hffifibe the queueing system. (06 Marks)

Arrivals at #'telephone booSl ire considered to be Poisson with an average time of
10 minutes between ongggival to the next. The length of a phone call assumed to be

distributed exponentiaSffi,$ftrean 3 minutes then,
(r) What is the probffiity that a person arriving at the booth will have to wait?

6a.
b.
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t-
Explain the characteristics of Game theory.

1OME74

(05 Marks)

Player 'A' and oB'plays a game in which each has 3 paise, 10 paise and20 paise.

Each player select a coin without the knowledge . If the sum of coins is an

odd amount, player A wins player B's coin. If of coins is an even amount, then

7a.
b.

player B wins player A's coin. Find best strategyftt cich player and value of game.

i-, . ""t (07 Marks)S*iE:;t'

c. Solve below game graphically, ,P'e#,*'W d

s* B's strategv &
e\i, ]l I r Is ir, .r r r r rI I f.,m&.llrlrrl{s#6*;
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8 a. List the assumptions gnq#ffi sequencing.
;h,
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a. List the assumptions Slqddefl sequencing. d'';\- (05 Marks)

b. There are 5 jobs, each*if which is to be processEii'through 3 machines A, B and C in the

order A B C. Ttdb"fScessing times are givg.n in the Table below. Determine the optimum

sequence for 5ffi and the total elapsed,timo'T'. Also, find the Idle time for each machine

and waitineJirreffir each iobs. tfo,,"'and waiting{i1go ffir each jobs. _@:_.-_
o ":,,,,,,.,,,.1 L 'l Machines 

I,*s- ""-l fou ITTBTc I't. rffi."-tu.e&* " \L-d! *r-T'ul-L[ 8-fs fEl-'*',14

* l3l7ll&-5, I **.:*.rk f+Fk_6}-tl ffi-\*,., l5l4Jq$""1 t0 I d

w" 
"* \re '&" \u ' lvr4r ^!'c. Use Graphical rqfthdd to minimize tl6lq#ht: required to@ess the following jobs on

machinei. For oech..machine speci&dhgjut which shoulffi#done first. Also calculate the-----.- -, -- , .,"-ai.- ---'-;-. T-., i&, "* **'

"ffi* I J 1".t6*J-'lIVll,|ryV, @* ""t lsffi A ' (07 Marks)

(08 Marks)
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